BRIGGS&STRATTON

lllustrated Parts List

Pressure Washer / Lavadora de Presion

Pressure Washer

This pressure washer is rated in accordance to the Pressure Washer Manufacture Association (PWMA)
Standard PW101 (Testing and Rating Performance of Pressure Washers).

Questions?  Help is just a moment away!
Preguntas? La ayuda es justa un momento lejos!
Call: Pressure Washer Helpline
Llame: Linea Directa del Lavadora a Presion - 1-800-743-4115 M-F 8-5 CT

Model / Modelo
Mfg. No. Description / Descripcion
020506-00 3300 PSI Briggs & Sratton Elite Manual Part No. 317675

Revision -
Rev. Date: 2/29/2012







Table Of Contents

PRODUCT COMPONENTS PAGES
V=TT T 1 T N 4
0 0] o RSP 5



Main Unit

NOTE: Unless noted otherwise, 316412
use the standard hardware torque
specification chart.

REF. PART NO. DESCRIPTION REF. PART NO. DESCRIPTION

1 317597GS BASE 11 199956GS GUN

2 315381BSGS HANDLE 12 207785GS EXTENSION, QC

3 202771GS * KIT, Hardware Pump Mounting 13 192134GS * KIT, Vibration Mount

4 192796GS HOSE, Chemical 14 196002GS * KIT, O-Rings

5 202772GS PUMP 15 203040GS * KIT, Hardware Handle

-- 208673GS VALVE, Thermal Relief (Not lllustrated) 16 202388GS * KIT, Wheel

-- 23139DGS KEY (Not lllustrated) - 191265GS E-RING

6 95458GS FITTING 900 ----- ENGINE

7 199310GS ADAPTER, Garden Hose - 316356GS MANUAL, Operator (Not lllustrated)
8 192310GS * KIT, Vibration Mount - 191267SGS AXLE (Not lllustrated)

9 316316GS HOSE - 30809GS GROMMET (Not lllustrated)

10 208324GS KIT, QC Nozzle - 189332GS CAP, Plug (Not lllustrated)

-- 195983NGS NOZZLE, QC Red - 199272GS OIL BOTTLE (Optional Accessory)
- 195983PGS NOZZLE, QC Yellow - 208538GS DECAL-Spark (Not lllustrated)

-- 195983QGS NOZZLE, QC Green - 194256GS TAG, Warning (Not lllustrated)

- 195983RGS NOZZLE, QC White - 23139DGS KEY (Not lllustrated)

-- 198841GS NOZZLE, QC Black - 6039 PUMP SAVER (Optional Accessory)
Footnotes

* Service Kit includes all service parts

The above parts group applies to the following Mfg. Nos.:
020506-00 - 3300 PSI Briggs & Sratton Elite

Briggs & Stratton Power Products Group, LLC 317675
Copyright © 2012 by Briggs & Stratton Corporation
Milwaukee, WI, USA. All rights reserved 4



Pump

NOTE: Unless noted otherwise,

use the standard hardware torgue
specification chart.

[

@ 00 @000 0w e @m0 (HomaED O

202302

J
s o | 2 ° = o]
P " 8] @ o Q° B
° o € (]
&f ° &f°n @@ C;© (=} =
« T o ©° 8

REF. PART NO. DESCRIPTION REF. PART NO. DESCRIPTION
20 198851GS INJECTER-DETERGENT L 202800GS * KIT, Unloader
25 204860GS JET - B2384GS FILTER, Garden Hose (Not lllustrated)
26 204859GS O-RING -- 6039 PUMP SAVER (Optional Accessory)
34 198850GS CAP-CHECK VALVE - 6033 OIL (Optional Accessory)
50 198849GS DIPSTICK
66 198297GS SCREW
83 203034GS PLUG, Drain
A 198736GS * KIT, Unloader
B 198843GS * KIT, Check Valve
C 198844GS * KIT, Piston
D 192914GS * KIT, Chemical Injection
E 198845GS * KIT, Water Seal
F 198848GS * KIT, Support Ring
G 198852GS * KIT, Hardware
H 198846GS * KIT, Oil Seals
J 198847GS * KIT, O-Ring
K 202902GS * KIT, Unloader Seat
Footnotes

* Service Kit includes all parts shown in box.

The above parts group applies to the following Mfg. Nos.:
020506-00 - 3300 PSI Briggs & Sratton Elite

Briggs & Stratton Power Products Group, LLC
Copyright © 2012 by Briggs & Stratton Corporation
Milwaukee, WI, USA. All rights reserved

317675






Hardware Identification &

Torque Specifications

Torque Specification Chart

FOR STANDARD METRIC MACHINE HARDWARE (Tolerance + 20%)
Property (56 ) e (10 0] (15 9]
Class A M \_ J o J \_A

Class 5.6 Class 8.8 Class 10.9 Class 12.9

Size Of in/lbs in/lbs in/lbs in/lbs
Hardware| ft/lbs | Nm. | ft/lbs | Nm. | ft/lbs | Nm. | ft/lbs | Nm.
M3 5.88 .56 | 1344 | 1.28 | 19.2 | 1.80 | 22.92| 215
M4 1344 | 1.28 | 30.72 | 2.90 |43.44 | 4.10 | 52.56 | 4.95
M5 264 | 250 |60.96 | 575 | 5.97 | 810 | 1.15 9.7
M6 44.64 4.3 7.3 99 | 10.3 14 | 12.1| 165
M7 5.2 7.1 121 | 16.5 | 16.9 23 19.9 27
M8 1.7 105 | 11.7 24 25 34 29 40
M10 15 21 35 48 50 67 59 81
M12 26 36 61 83 | 86.2 117 103 | 140
M14 42 58 101 132 | 136 185 162 | 220
M16 64 88 147 | 200 | 210 | 285 250 | 340
M18 89 121 202 | 275 | 287 390 346 | 470
M20 126 171 290 | 390 | 405 | 550 486 | 660
M22 169 230 390 | 530 | 559 745 656 | 890
M24 217 | 295 497 | 375 | 708 | 960 840 | 1140
M27 320 | 435 | 733 | 995 | 1032 | 1400 | 1239 | 1680
M30 435 590 995 | 1350 | 1401 | 7900 | 1681 | 2280
M33 590 800 | 1349 | 1830 | 1902 | 2580 | 2278 | 3090
M36 759 | 1030 | 1740 | 2360 | 2441 | 3310 | 2935 | 3980
M39 988 | 1340 | 2249 | 3050 | 3163 | 4290 | 3798 | 5150

The guides and ruler furnished below are designed to
help you select the appropriate hardware.
HHU\H|HHUH\|HHU\
80 90

|H\UH\|HHU\H [T HHU\H|HHUH\
0 10 2 60

0 30 40 50 70 100
4 \ jmmmm}ody
\ ) Diameter
> re—Body Lenglh—>|
Nut;_I\JIIB Screw, M8- 1.25 x 25
Thread Thread Distance between Body
Diameter (mm) Diameter (mm)  threads (mm) Length (mm)
Inside Threads Body Threads Body
Diameter (in)  per inch Diameter per inch Length (in)
Nut, 1/2-16 Screw, 1/2- 16 x 2
12 5 14 12 an 14 12 an

0
| 1/4
vl

4
1/4 7|/2 34 |

Standard Hardware Sizing

When a washer or nut is identified as 1/2” (M8), this is

the Nominal size, meaning the inside diameteris 1/2 inch
(8mm metric thread diameter); if a second number is present
it represents the threads per inch (distance between threads).

When bolt or capscrew is identified as 1/2 - 16 x 2” (M8 - 1.25 x 50 ),
this means the Nominal size, or body diameter is 1/2 inch (8mm
metric thread diameter), the second number,16, represents the
threads per inch, (1.25 thread diameter). The final number is the
body length of the bolt or screw, 2 inches (50mm).

Torque Specification Chart
FOR STANDARD MACHINE HARDWARE (Tolerance = 20%)
Hardware : j @ @
Grade -
SAE Grade 2 SAE Grade 5 SAE Grade 8
Size Of in/lbs in/lbs in/lbs
Hardware | ft/lbs | Nm. ft/lbs | Nm. ft/lbs | Nm.
8-32 19 2.1 30 3.4 41 4.6
8-36 20 2.3 31 3.5 43 49
10-24 27 341 43 49 60 6.8
10-32 31 35 49 55 68 7.7
1/4-20 66 7.6 8 10.9 12 16.3
1/4-28 76 8.6 10 13.6 14 19.0
5/16-18 1 15.0 17 231 25 34.0
5/16-24 12 16.3 19 25.8 29 34.0
3/8-16 20 27.2 30 40.8 45 61.2
3/8-24 23 31.3 35 47.6 50 68.0
7/16-14 30 40.8 50 68.0 70 95.2
7/16-20 35 47.6 55 74.8 80 108.8
1/2-13 50 68.0 75 | 102.0 110 149.6
1/2-20 55 74.8 90 | 1224 120 163.2
9/16-12 65 88.4 110 | 149.6 150 204.0
9/16-18 75 | 102.0 120 | 163.2 170 231.2
5/8-11 90 | 1224 150 | 204.0 220 299.2
5/8-18 100 | 136 180 | 24438 240 326.4
3/4-10 160 | 217.6 260 | 353.6 386 525.0
3/4-16 180 | 2448 300 | 408.0 420 571.2
7/8-9 140 | 1904 400 | 544.0 600 816.0
7/8-14 155 | 210.8 440 | 598.4 660 897.6
1-8 220 | 299.2 580 | 788.8 900 | 1,244.0
1-12 240 | 326.4 640 | 870.4 | 1,000 | 1,360.0
NOTES
1. These torque values are to be used for all hardware
excluding: locknuts, self-tapping screws, thread forming
screws, sheet metal screws and socket head setscrews.
2. Recommended seating torque values for locknuts:
a. for prevailing torque locknuts - use 65% of grade 5
torques.
b. for flange whizlock nuts and screws - use 135% of
grade 5 torques.
3. Unless otherwise noted on assembly drawings, all torque
values must meet this specification.

Common Hardware Types
Hex Head Capscrew

Carriage Bolt

o @)

Wrench & Fastener Size Guide

1/4” Bolt or Nut 5/16” Bolt or Nut 3/8” Bolt or Nut
Wrench—7/16” Wrench—1/2" Wrench—9/16”

Hex Nut

7/16” Bolt or Nut 1/2” Bolt or Nut
Wrench (Bolt)—5/8" Wrench—3/4"
Wrench (Nut)—11/16”

M12 Bolt or Nut
Wrench—19mm

M14 Bolt or Nut
Wrench—22 mm

M6 Bolt or Nut
Wrench—10mm

M8 Bolt or Nut
Wrench—13mm

M10 Bolt or Nut
Wrench—17mm



BRIGGS&STRATTON

Briggs & Stratton Power Products Group, LLC

Copyright® 2012 Briggs & Stratton Power Products Group, LLC. All rights reserved. No part of this page can be
reproduced or transmitted in any form by any means without the express written permission of Briggs & Stratton Power
Products Group, LLC.




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.5
  /CompressObjects /Off
  /CompressPages false
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 2400
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly true
  /PDFXNoTrimBoxError false
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (U.S. Web Coated \050SWOP\051 v2)
  /PDFXOutputConditionIdentifier (CGATS TR 001)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /ENU (Briggs Graphics with 300dpi downsamples. Includes crops and bleed.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks true
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        9
        9
        9
        9
      ]
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /HighResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 12.002400
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




